oooooIlnooooooood

gobbooogbb 2000

oot

Ooon

goodooboobobbooooooooo
gubbodoooboooooooagoo
guobooboooboooobgobooan
gdog

ggotbguoooouoobooobobod
obobobOoooobobbooooobobbd
Jooodooooooooooboboobobon
20030000000 bbObUUooOoOooOon
guobgooboguobooouogooboon
gubboogobobbodogobbboogonn
O000000000000000 (dimension)
goodooooooood

Dobobooboobooogobobodgn
O (length)D 00 LOO D (time) 000 700
0 (mass) D00 MOODO (area) 000 AODO
O (volume) 000 VolOOOOODO (energy)
OO0 fpO00000O0O00OO0 LOTODO300O
o0 1200000000000 00000
gobboboggoobbbobooooubooo
guboodgoboboooobboooonon
gubbobooud0bugounobgnbn
gogd

] = L (1)

gobooobbD3ambgooooboobood
gbooodao

[Bm| =L (2)

goobd
Dobouboobogobooboobogn
goobobbmoggbbobobooogd

gbooodboboguobobobodn
gboobobobobooboooobon
gbobogobbuogbobuoboobgbood
gogobooooood

gbobobobuogbobobuaoodao
gbbogbbooboobooboboboon
gogobobboooooboboooooooo
oboobobobogo sooooob Lo 20
gogooo

S =1L? (3)
O0000VO0OOO0OO0OOLO3000000
(4)

00 (velocity) OO Vel DODDOOOODODO
oooobooooon

Vol = L*

Vel = LT * (5)

O (force) D00 FOOOOOODOOO

F=MLT? (6)

goooo
gbodgboobobbobogobdaodan
gbogboboooboobobooogn
gbuoodbod«0bobuogbobogn
gboogboo Fobooobg

F = —kx (7)
000000000000 0000000

[F] = MLT* (8)
O0o000o00o0o0on

k] = [K][z] = [K]L 9)



0D000MLT2=[LO00000000

k] = MT? (10)

Dbooboobooboobbo0 OO
000000000000 Om/kODDODODO
gbooooogn

M

= 11
[k} MT2 (11)
000000m/k000000000000

GE

0000000000 k000000000
000mO000000000000000
000000000000000000100
0000000000000000 v/m/k0
00000000000000000000 4
0090000000000000000 200
300000000000000004009
00000000000 1/2001/30000
000000000000000000000
000000000 (dimensional analysis) O
000
0000000000000000000
00000000000000000000
00000000000000000000
000000000000000000000
00000000000
000000000000000000000
000000000000000000000
000000000000000000000
000000000000000000000
000000000000000000000
0oo
00000000000000000000
000000000000000000000
000000000000

m :T2

(12)

g9 00 MOUOO L, ODOTODLODOO
gbobogbodgbobobobobooooo
gboobooboobooboobobbo
goobobooggobooogd

g10. 00x 00000 Ox odoooao
gobobobUxgooobooooo

011. 20000
az® +br+c=0 (13)

good
—b+ /b2 —4ac

2a

xr =

(14)

gooooogoouoooogoooogogno
godooogooogogno
g12. d0gdQo0ooooooonoooobd
gooodg

dr

GMm r
m_ j— .
dt?

(15)

r? r
goooooooooooouoooo 300
oddoooooroooooooo rROOO
T’ x RRO0ODOD0O0OOCOODOOOOOOOO
googao

013 D0odooooo40000 90

ggbobobooogbboboooon

oon

gboudgbobouodgbbobobobbobon
gbbbogbboboboobodgboboon
gboogbbobbobboobooboon
0000 (dimensionless quantity) 0 0000
gbogbob~00O00000DOO00DbOobon
0000000 7= MLOT'0 000
U114 ODOoodooooooooboboon
gboobdgbdobobobobdooogogo



